Détails du Calcul de |la Pénalité

Identité
3 | FERRARIS RAPHAEL
30 | MUGNIER ARTHUR
13 [ MILLEREUX ARTHUR
16 | MUGNIER ACHILLE
2 | FERRARIS ADRIEN
23 | VATTIER APOLLINE
45 [ MILLEREUX JEANNE

Tps P.Insc  P.Retenu P.Cse Diff P.Final Progres

-16.24 16.24
-13.67 13.67

25.07
28.34

-18.80 58.41 [NER:{0)
-14.29 58.86 [WNT9Le)

| M1 (3/10/20) : Moyenne des Différences | -15.75|

u14 47.50 15.86 37.61
u12 49.60 29.14 29.14 42.81
u12 53.08 26.35 51.42
u12 53.68 24.57 52.91
ul6 55.90 39.61 39.61 58.41
u10 56.08 44.57 44.57 58.86
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| Pénalité de I'Epreuve : 0.00 |

www.clubesf.com Page 1


http://www.clubesf.com

